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Time :2 1/2hrs Marks: (75)
NOTE :1) All questions are compulsory.
2) Draw neat diagrams wherever necessary.
3) Figures to the right indicate full marks.
Q.1) Attempt any two. (15)
A) Explain the circular flow of income in a closed economy.
B) Discuss the prosperity phase of trade cycle.

C) Explain the determination of equilibrium level of income in open economy.

Q.2) Attempt any two. (15)
A) State various determinants of money supply.
B) Explain the motives of demand for money.
C) What is liquidity trap? Write the limitations of Liquidity Preference theory
of rate of interest?

Q.3) Attempt any two. (15)
A) What is inflation? And how is rate of inflation measured ?
B) Explain the causes of inflation. :
C) State the various measures to control inflation.

Q.4) Attempt any two. (15)
A) State the factors affecting liquidity of commercial banks. ,
B) What are the objectives of fiscal policy?
C) Explain the derivation of LM curve.
Q.5.A) State whether following statements are true or false with reasons.
(any four) (8)
1) Trade cycles are recurring.
2) The concept of multiplier has no limitations.
3) Transactions demand for money is income elastic.
4) Savings decreases velocity of circulation of money.
5) Phillips curve shows relationship between unemployment and inflation.
6) Bank rate is increased to control inflation.
7) If the operating cost of commercial bank is high, their profitability
increases.
8) IS curve shows equilibrium in money market.
~ B) Choose the correct answers and rewrite the statements.
(any seven) (7)
1) During phase output, employment and income declines.
a) prosperity b) depression c) recovery
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2) The impact of is seen in the concept of supermultiplier.
a) multiplier & accelerator b) multiplier & investment ¢) multiplier & savings

3) If Marginal propensity to consume is 0.8, then investment multiplier is ___
a)5 b)2 25

4) Traditional approach of money supply includes
a) currency b) National Savings Certificate. C) Post Office Savmg Deposits.

5) Liquidity preference theory of rate of interest has been explained by
a) Keynes. b) Marshall . c¢) Pigou

6) According to Keynes interest is a factor.
a) real. b) monetary. c) fiscal.

7) Due to inflation value of money
a) increases b) decreases c) remains constant

8) The idea that mﬂanon is a post full employment phenomenon was stated
by
a) Keynes b) Marshall c) Smith.

9)Excess of money supply and inflation has relation.
a) negative b) positive c) zero

10) is an asset of commercial bank.
a) Investment b) Reserves and surpluses c) Deposits

11) is a liability of commercial bank.
a) Deposits b) Investments c) Loans and advances

12) Increase in shifts the IS curve to the right.
a) public expenditure b) money supply c) taxes
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